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[Graphing Linear and Quadratic Functions - Guided Lesson Explanation ]

Explanation#1

The x-intercept is the x-coordinate of the point where the graph crosses the
X-axis. The coordinates of the x-intercept are (x, 0), where x is the x-
intercept.

The y-intercept is the y-coordinate of the point where the graph crosses the
y-axis. The coordinates of the y-intercept are (0O, y), where y is the y-
intercept.

Find the x-intercept.

The x-intercept is on the x-axis, where y = 0. Plug y = O into the equation
and solve for the x-intercept Xx.

5x — 9y = 45

5x-9(0) = 45 Pluginy =0
5x = 45  Simplify

X = 9 Dividebothsidesby3

The x-intercept is 9. Its coordinates are (9, 0).
Find the y-intercept.

The y-intercept is on the y-axis, where x = 0. Plug x = O into the equation
and solve for the y-intercept y.

5x — 9y = 45
5(0) -9y = 45 Pluginx=0
-9y = 45  Simplify

Yy = -5 Dividebothsidesby-5

The y-intercept is -5. Its coordinates are (0O, -5)
Use the intercepts to graph.

Plot the x-intercept (9, 0) and the y-intercept (0, -5). The graph is the
straight line connecting them.

1 Tons of Free Math Worksheets at: © www.mathworksheetsland.com




Name

Date

(0]

(o))

N

N

0 5 |
2 ///
//
L~
4 L~
1
e~
A1
Z
=
// 8
\ 4

1 Tons of Free Math Worksheets at: © www.mathworksheetsland.com




Name Date

Explanation#2

Changeiny
Slope = —
change in x

The coordinates of the y- intercept are (0, y), where y is the y- intercept.

In the equation y = mx +b, m is the slope and b is the y- intercept.

4
y = gx is the same as y = E X + 0, so the y- intercept is 0. Plot the point
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4
The slope is E Move up 4 and right 2 to find another point on the line.
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The graph is the straight line connecting (0,0) and (2,4).
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Explanation#3

Changeiny
Slope = ——
change in x

The coordinates of the y- intercept are (0, y), where y is the y- intercept.

In the equation y = mx +b, m is the slope and b is the y- intercept.

3
y = fx is the same as y = I X + 0, so the y- intercept is 0. Plot the point

(0,0).
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3
The slope is I Move up 3 and right 1 to find another point on the line.

210 4

The graph is the straight line connecting (0,0) and (1,3).
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